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Intro

Today we will 7”va learn 2”9 97 of mn2’ noon.
The topics we will learn about include

wmaPn
When items of the same type mix together
There is a Machlokes whether it is 502 or not

SRS YNNI WW 937

If an item will eventually become 1m», like an item that is
7511 on 20 0y and will be 9mn after 110 o, it does not
become S0

Whether

RIONIRT 787 1212 799190
Or

13297 B0 PR N

A discussion whether 131 °17 holds that it is required for
there to be a 217 to be Svan an 3397 MOR or if it's Sva even
without a 11

A npbmn between ppny 27 and Wb Wi regarding an
DIPIITIR

wp5 W says he's a 7101 oo, we are uncertain if an
OIPNITIN is a male

137 °17 says he'’s a 991 'RT), we are certain that an ©IPIITIR
is amale
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So let's review

On the previous Daf the Gemara cited the following
Braisa:

ARPY DRV DY 710N

N0 MROA W MNA RN 72N

ARPO 071977 D> W 7019 1

M0 023977 DAY SW MDD RN 72IVNIY

One piece of mo°x got mixed into 100 pieces of 1’77,
N

It becomes Hva

AT 727 says

150 RS

It does not become 501

The Braisa continues with another 2 similar cases:
M0 DRV YW 7NN

M0 PO W MO NN AR 127D

M0 397 ONY YW 710 191

M0 PHIN 5w Moo AR 72IYMIY

75vn RS 5917727

The ’np Nin agrees that it does not become H0a,

The Gemara first explains the xw:

The x»p N0 says

noyn

It becomes Sv3,

Like any other o'

A7 17 says

moYn RS

It does not become >v3, because

IORT PHYVY AT 27

D0ARY PP

When items of the same type get mixed together, as in our
case of meat in meat, it does not become Sva.

According to Rashi, this explanation is according to both
wph W PRy 2.

Regarding the xo'o;

There too, 7T 27 ruled

moYn RS

It does not become Y03, because

502 RPN

However, according to the Tanna Kamma, the difference
between the Xw», where they ruled n5vn, it does become
5v3; and the 800, where they agreed 7bvn x5, it does not
become 503, needs to be explained.

MNP ANBA S [enn

DI PINRER S MR NG napnw

N s and S movs 1
MMM 2351 oD S MDD NP maapnY

17729

mopn 89

Not 502

N3P XIN

mopn

Becomes Y02

TN ARG Y NN

naw i"ﬁf‘l e monn aNme napnw

A 2en an S movs 1
PYNAR 9IRS MDD FNGE AR

bor e

mopn 8RS

Loo
MMM ANBR S RN
MM NG AR
PV 1OV S

AT N R?:P NIR
oY NS mopnab

p ey
:PPYYH >

1102 PN -
52 NY
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Rashi explains:

According to 3 27, in the Rw” it becomes Sv3, because
the Mishnah is speaking of a n>’nn, which is not a 727
Pa2w according to 1301 °29, because it is merely

M 1977w 5,

Only sometimes sold by count, but it’s not

M2 1377w NR

It's not always sold by count. Therefore it becomes Sva.

However, in the o0 it does not become 03, because we
are N» to not be Svan even

M5 1977w 53, something that is only sometimes sold by
count, because it's merely a

VYW TOON,

It's only a minor loss, because the owner can sellitall to a
179, who is permitted to eat it since they are both o™ nv.

However, according to v’p5 w1 the Mishnah is speaking
of imn13, the meat or bread was dissolved. If so, we must
find another reason why the Tanna Kamma agrees in the
Ro'D that it does not become Sv2?

The R offers 3 explanations:

_]_

13297 PPWR DRIV RW™

RNVIIRT RO'D

In an 13297 mo'R the Tanna Kamma holds

S0P PN

In an Xn»RT7 O the Tanna Kamma agrees with Rebbe
Y ehuda that

Yvarbrmapn
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Rashis explaing:
According to1an 727
the Mishnah M/Wﬁ%/%w
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We aremnn
to not be Yvan
even M’y 1DV 7
Because ity W@%/
a /}///\/ 2009

Notapamaw 127
because it is merely
man’r 1077w 9

However, according to W p% W
the Mishnah is speaking of

N2

We must find another reason
wéy the Tanna Kamma agrees inv the toro
that it does not become /657
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IND NOR RW™

172 R RO

In an XY or the Tanna Kamma holds
S021PI PH

In an n15 17o°) the Tanna Kamma holds
Yvarbirmapn

_3-

IMRIWR Y

YIS W 927 0T DIWN ROD

In the Xw the Xip Rin holds it is Y03, because it's a
PYIIb PRY 727

An mox that will otherwise never become mn

In the Xo’0 the Xiop Rin holds it's not Y3, because it's a
YO B ww T

An 1o'R that will otherwise become mn, because it’s
permitted to be eaten by a Kohen; and,

PYIN DWW 937 5

>varb 9HRa1 150K

However the X3 rejects the third answer and says
N7 RMTL WK 277 R

*WR 17 never said this answer, because this is not a case of

PYOn 1 ww 727, because;

YR

MY RIVD

For a o it’s already 7mm, even before 910°3;
SRV R

MOR O

For a non-Kohen it will never become m» without M0,
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The Ao r?‘ea‘y the 3rd answer
and Sayy £ Lp/s G 277 £3...
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On the previous 97 we learned a np>mn between wp5 WA
pnr A regarding

pinkisinhloinly

wph WM says it's 11277

1IN 27 says it's AMNa»

The xm2 asks on 3 "1y

RN

mop nw

190 5w NN PN W DA

PRO W D309

1130 5w NAR PN W DA

The two containers fell into the two large boxes and we do
not know which container fell into which box. The
problem obviously is that if the container of Trumah fell
into the box of Chullin, it becomes forbidden to a
non-Kohen.

The Braisa rules;

I ORI

IININY

1591 I TIN5 AN

“o1 P9 A Phm

Both boxes remain 1m» as before, because we assume
that each container fell into its own kind.

Now, since this is merely an assumption, it can only be
made regarding an

11277 MO'R, because )P 113797 Rp’o0; and not regarding an
RNPIIRT NOR, because RIS ROPIIRT NpPO0.

Therefore, we must say that this Mishnah holds

13297 7 P N

Which contradicts the opinion of j3ny 27 that

RIPIRT AT 1912730190

The X answers

N7 13270 R

The Braisa, as well as 13y °27 himself, follow the 13127 who
hold that 13277 nti o2 N, However, 30y »27 earlier was
referring to "o °27 in our 7w, and said that "o *27 holds
ROVIRT 77 7912 0N
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Since this is merely an assumption,

it can only be made regarding an)22)T DN,

because NDIPb 1)2)T NpOD

Therefore, we must say this Mishnah holds
2277 NTN PPT2 NN

N1 1227 220 XD

\'d
However, YOI 0 wad r%ern’ng/ ty

o)’ P2 W our oy
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2D N
. Regarding the Mishnah of Trumabh, the X7m3 cited a . .
wpb WM pAY 23 npdnn: Regardmg the Mishnah ofTrumah,
e s siaply make the assumption that the NI cited awpd W 1) PPIGHD

o1 PHN PraPoIMm

Because 13277 737 1982 7910
However, v°ph v says; 'L’.J’P'? N 1”7
PN SY PO 127w RIM

This assumption can only be made if the box contained

more wheat that the container which fell into it - So that ]"711'1 129w XIM
we can say that even if the Trumah fell into the Chullin, NN
we have at least a Rn?IRT 2172 D07 NN 5y 2551 MO NNY
However, 13mv °27 does not require 51 217, and makes the This assumption ' ! nn
assumption even if the amount of Chullin and Trumah can only be made ]’b]n'l
were equal. ) .

if the box contained 1991 PN PN2

more wheat
than the container
which fell into it

Because

/97? Dle //563 IV

The x 2 asks that we find that even by an 13277 WO
137 *17 does require a 2177
PO RM
MIMIN RO D'VIIN WV PN
‘ If a mp» had the exact Mmy’w of 40 RO
RO H01 RO 1M
And a person placed in it a X0 of other liquids, and
removed a RO of water,
i2e]

And pny 27 said ]Jn” 21 &np NIR
:i:: :fnwrr INDRD 1:1.\ -'v .\w:

That the mp» will only be 9w so long as a 211 of the water
remains W5 Mikvah water.

So we see that even by this %109 of 7o Son Ao j3, which
is only a 3297 9109, we still need a 2177

DN ARD QW2 12 2 miph

13/ 7"/)\99 //.’ﬁ;!-’/‘/

We see that even by this DDD of DRD D) IND )0,
which is only a)>27T0 JDD, we still need a ?
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The X gives 2 possible answers:

1217 9PWwI RYT RS

137 °17 does not require that there should remain a 217 of at
least 51% of 7w> Mikvah water;

Rather he is saying that they should not remove a major-
ity. There must remain at least 50% of 7w> Mikvah water

RN YN

137 »17 does require that there should be a 217 of at least
51% of 7w> Mikvah water even by a 13277 5109, and the
reason that he does not require it in the case of mop 'nw, is
because

MR INY WY RIPR

We can be 750 that

1593 1IN JINS AN

“oI PR M P
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They should not remove a majority.
There must remain
at least 50% of YW> Mikvah water

He does NOT require it
in the case of moy MY,
because
IIN INY NS RN
NDDI NONN NS NN
159 poin N2 oM

Jan» 127 DOES require

that there should be a 1
of at least 51% of YWD
Mikvah water
even by a)>2YT0 bipd
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The Rm3 returns to an earlier n5nn between W5 WM
‘ and v 27 O1IONTIN
w5 w1 holds that an ©aITIR is a 307 OO
1317 °27 holds that an D)7 73R is @ 991 'RT
The X2 explains how each of them interprets what '29 AN 27 w"l-)l7 wn

"7 says in the mywn: ’R.f] PDD

R’ RDI RWI DIPAITIR

wp5 W explains W as -ID.( _I Dt

RWI DR

7273, if he married a woman the marriage is valid - .

However 1>’nn>> he may not marry a woman, because DUNTITIN NWI OX
he’s a 721 pov.

N N> nnob NN T2Y*72
However, even 72073, if a man married him they may not ) 5 T2V°72
remain married, because there’s a potential 17o°x if they . T2V>T72 NEMs NS" if all’m an
are both male. if a man

married him

married him

And 1307 27 explains it as follows

o 2o | TN
7>nnob he may marry a woman, because he’s a 73t "RT1. PPN SN
RWI KD () (L L1}
72171 if @ man married him they may not remain married, ) sv I =y
because there’s a potential :7o°x if they are both male. n‘,qac
And according to 301 »27 the difference between this pr%/ pjg I
opinion of "o ’27 and the next teaching of 71°5% "7 who a9
says;

. 2913 7RO PHY PN DIPAITIR
Is that
o1 727 holds

PR 30N AP0 YOV PN
And 71’5 17 holds, only
1

This discussion continues in the next Daf,
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